OQ%@&@@MQ%Q

fnd the o

i 2 ~
X" = X o 20000 cos TS
Z 2 =

R X“= X #\2l - 721X cos 1Yo

=lgj==Z2X cos LS

-22 cosTILMS -372 cos MY

P LEY = &

A= %’,Ok\o s C

w= 5‘1",\\(\7.'18%) < 1LYS

"’"ﬁ"lo-\ uwml\




0¢/91/¢ suidiroses

EYEN em(tﬂg> (b m(_u__rrs 8 cos(-—]_ﬂ
. _J | -

¥

-axs*\

—_—-——'

2 )=
G

@ (OS5 ng) = (0S(BS~30) = oS \DW@ S%D%mx%'sf‘bm%

Y3 )8

2

i\

0 [ o8eq



6'\(\2-'1' C,D(‘;L;‘

Coé" R

Dverty 4 fart 1 - sec’|
v e
- - ol 77 (5t
N O +C0S “Qj ot e fi b

= = (ot 0
| + N

s¢c -

= _
CSCE ) (,DTL@

-—

Q€0 /
ot*e = of &

SAARS 4 (os X —|

cosXxtl : SN X

= 0

anx\einx (Logx-l)%coswrl
g\Y\x CO&XWL_l 2 LOSK*\

, 4
K‘\Y\?;?Qos - |

( earvOLLosxs 1)

—

A-1X - o0
(o XN s xth)

O =
L%\N) ( QO%TD

@, = L) \,/




Page 1 o

rascript:"" 3/16/20



